DERIVATIVES—THE POWER RULE

Note: y=x", y’=nx"",

1. y:x3_3x2+2 6. y:(x3+1)(2x+3)
2. y=3x*"+5x-2x"—4x+6 7. y=(x=2)(x+1)(3x+1)
s «/_ 8. y= (x5 +8x)2 =x"" —4x° +4x’
BT 9. y=3x(x+1)(x-2)
P —4x+7 ~
4. y=% 10.y:(2x+3)(2x 3):4)62_9:4)6_9)6_1
X X
5. y=(3x+1)(5x—3)
SOLUTIONS
1. y=x-3x"+2 6. y=(x3+1)(2x+3)
y'=3x"—6x = 2x* 4307 +2x+3
Y =8x +9x” +2
2. yp=3x* 3905t
y=3x -31—5x 22x 4x+6 7. y=(X—2)(x+l)(3x+1)
V' =12x" +15x" —4x—4
=3x" —2x" —7x-2
1 !
3. y:X5—3\/;=x5—3x5 V' =9x’ —4x-7
33{5 4 8. y= (xs +8x)2 =x'"" —4x® +4x°

Yy =5x"—-——=5x 3 0 S
2 2x 3 =10x" = 24x° +8x

4 :w:x—4+7x_l 9. y=3x(x+1)(x-2)
x =3x* -3x’ —6x7
V=1-7x?=1-L » =12 —9x* ~12x
x
p— 2_
5. y:(3x+l)(5x—3):15x2—4x—3 10.y=(2x+3)(2x 3):4x 9:4x—9x_'
V' =30x-4 * )

Y =4+9x7 =4+%






